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58 16 B HemdEYyh—if 3Aa—F
No. AJOvY GF 2FC moas BR | #R | XA | & | B
A1 GF * 2 — 4 0 — 6 0 2 10 | -8 3
A2 2FC 4 - 2 * 0 — 4 3 4 6 -2 2
A3 3=/ 6 — 0 4 —- 0 * 6 10 0 10 1

58 16 B HemdEY Yy H—if 3Aa—F
No. B7AvY tFhh XiB 7FC e | /R | XA | & | Bk
B1 f-EhhH * 8 — 0 5 — 0 6 13 0 13 1
B2 XI5 0o — 8 * 1 — 5 0 1 13 | -12| 3
B3 7FC 0 — 5 5 — 1 * 3 5 6 -1 2

58 158 FhmdEYy Hh—if 3Ba— bk
No. cJavy YN AE ILw—X BR| /R | KR | & | B
C1 YN * 1T - 1 1 - 3 1 2 4 -2 2
c2 3 1 = 1 * 1 - 4 1 2 5 -3 3
c3 ILw—2X 3 - 1 4 - 1 * 6 7 2 5 1

58 158 FomdEYy h—i§ 3Ba— b
No. DI7AvY et E—REVY 9FC B | B8R | XA | £ | IEk
D1 Fepde * 0o — 12 3 - 2 3 3 14 | -1 2
D2 E—REVY 12 — 0 * 1 - 1 4 13 1 12 1
D3 9FC 2 - 3 1 - 1 * 1 3 4 -1 3

5A 16 B Ko EYyh—ik 3Aa—} SFEOH
No. EJavy 4BK7RI1 b+ P 35=2 4 INRT— ARTE MR | 88 | KXW | 2 | W
E1 4BKAKRIAk * 5 — 1 1 - -1 6 " 5 6 2
E2 3= 1 — 5 * 0o - - 0 3 3 10 -7 3
E3 INGITIL— 3 - 1 -0 * - 9 12 1 1" 1
E4 ARTE 1 — 5 0o - 0o — 4 * 0 1 11 | -10 4

5A 158 BhhdESyh—iR 3a—+ S OH
No. F7avsy 4BKLwF maFc N4 TO— E—2/T0— | BR | 85 | &5 | # | RfL
F1 4BKLyF * 4 - 0 1 - 2 0 — 3 3 5 5 0 3
F2 HFC 0 — 4 * 0o — 4 0o — 5 0 0 13 | -13 4
F3 n(To— 2 - 1 4 - * 1 = 0 9 7 1 6 1
F4 (e & g = B 3 — 0 5 - 0 — 1 * 6 8 1 1 2
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